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Candidates must write the Code on the
title page of the answer-book.
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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)
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General Instructions :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.

Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.

AT A

SECTION A
A1 % 3cATGl T ARG & I8 o % fafaw |
Name two industries based on forest produce.
forgq Srectl o fargq, seaftEl o a1 sreEe g G o 7 g gt %
T S B 3 ?
Why are the heating elements of electric toasters and electric irons made
of an alloy rather than a pure metal ?
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SECTION B
3. Ul w1 anfvae g fafay o sueht saeei-famg s Efifae | 2
Write the molecular formula of ethene and draw its electron dot
structure.
4, U1 ?ﬁﬁq :

(a) I, TMee IR FHeat 1 ITAN STV i s H fohaT ST 7 |

(b)  wifeay i ufirm St argsti w1 wueru daf § gae fRn St e |1 2
arera

FB R dh 9 § Gell Tad W fiear (A7) 6 aeqe sieft 9g It 8 Sefen

HIR (qTe) o Tl bl ol H W T 3T FHehIcl P I8l W &l T 59 STt

? | 917 § ufeya 39 ugredt & AW fafew S g7 argent @ stfufskan e § qen

g9 9T Icqrel & 1 forfe | 2

Give reasons :

(a)  Platinum, gold and silver are used to make jewellery.
(b)  Metals like sodium and potassium are stored under oil.

OR

Silver articles become black when kept in open for some time, whereas
copper vessels lose their shiny brown surfaces and gain a green coat
when kept in open. Name the substances present in air with which these
metals react and write the name of the products formed.

5. &l 1 MO uEdAh 17 7 | ®& H TR hl @A 714 hitee | fafa |
TeRTRT 1 =T 3 x 108 m/s B | 2
The absolute refractive index of Ruby is 1:7. Find the speed of light in

Ruby. The speed of light in vacuum is 3 x 108 m/s.

qHr |
SECTION C

6. FaIYF Tt H B (II) A8¢e o Al T o 0T hl TH H T HEAT HIHR
JFETSE, Oy AT HIS Y 9 X et 7 | 3
(a) 3T 3fufsran & TR 3 1 X &l Y8 |
(b)  sfufsran =1 Tgfera Tamfe Tt fafa |
(¢) T8 X T fae=e &1 pH WiE ffaw |
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On heating blue coloured powder of copper (II) nitrate in a boiling tube,
black copper oxide, O9 and a brown gas X is formed.

(a)  Identify the type of reaction and the gas X.

(b)  Write balanced chemical equation of the reaction.

(c) Write the pH range of aqueous solution of the gas X.

(a) Torell 37T 1 Thd hLd THI AT STV FAI hi Il 7 foh A ol
S # T =iz T o6 5 1 o | 2

(b) Ih TESOH FANGS NH I fofemd oF & W § His qiadq &l
A | w2

AT
I A Aifeam grsgidarss fhm TR ST STt 8 2 39 fshan 1 9 foiRaw |
39 Ufsha H IUIcaTg o €9 H i M9 X o 8 | I8 79 94 & a1 | 1w
hich ohis ATk Y SHTC! &, SrEent 3w WEa e 4 foieH e & ®9 °
fopam STaT B | X SR Y I ygENU dun g arefl Stfufshanstt & v
grfiertor fafau |

(a)  While diluting an acid, why is it recommended that the acid should

be added to water and not water to the acid ?

(b)  Dry hydrogen chloride gas does not change the colour of dry litmus
paper. Why ?
OR
How is sodium hydroxide manufactured in industries ? Name the process.
In this process a gas X is formed as by-product. This gas reacts with lime
water to give a compound Y, which is used as a bleaching agent in the
chemical industry. Identify X and Y and write the chemical equation of
the reactions involved.

IYFYHl TFATES T BId & ? Ueh 3QTE0 IWT | 319 I 6l gfee & few
Hdfora TEfeh FHieh faRay |

What are amphoteric oxides ? Give an example. Write balanced chemical
equations to justify your answer.

HIed AfTenl hI TASAE S0t T BT B 2 Teh 3@ ST qAT 39k did
rfiyctegon At FE SR |

What is a homologous series of carbon compounds ? Give an example and
list its three characteristics.
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10. difdshl & &9 H OIS qmor R fowmadt qmwor & g 9 et
rfiyereqon T FE TR | 3

List in tabular form three distinguishing features between autotrophic
nutrition and heterotrophic nutrition.

11. IraicEsd Tl gd @ 2 39 @ i fARgu | 3
HAAAT
(a) ATl {8 HEd § 2 ITgdl o oI I8 =i A1awer 3 2
(b) TR o HEa®d UGdl § 9eref gl dgad & ? 3
What is transpiration ? List its two functions.
OR

(a)  What is translocation ? Why is it essential for plants ?
(b)  Where do the substances in plants reach as a result of translocation ?

12. TfhER o1 BT B 2 39 [y v o i fafgu | 3

What is carpel ? Write the function of its various parts.

13. I3 B A fopet g1 1 3794 F19 § Uhel g3 &, UV h WIedh IS

T I 3T HISdT 8 | 3Hoh U I8 UUEfdd JehIST i YUl & fehe Tt i

! 3ffc T ST 7 | 3

(a) U I S o T 30 =1 ST =0 2

(b) 3ok U ToRE TR T UOT T ?

() o1 98 39 ThIThaId g1 30 UUl <l |idehe Wiy gl Fulf@ o
T ? S0 ThUT § 79 I sl Ifsc U gt 3T Th1eT fohtor i@
et IV |

CPC)]

10 cm ST IS o 12 cm IhE gt & fhefl 3Ta1 0 & &I 319 & orad.
@l ? | oE g fore gl 18 cm § | S Ao widfersr shi wepf, feafa stk

1SS T 1T | 3
A student holding a mirror in his hand, directed the reflecting surface of

the mirror towards the Sun. He then directed the reflected light on to a
sheet of paper held close to the mirror.

(a)  What should he do to burn the paper ?

(b)  Which type of mirror does he have ?

(c) Will he be able to determine the approximate value of focal length

of this mirror from this activity ? Give reason and draw ray
diagram to justify your answer in this case.

OR
A 10 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 12 ecm. The distance of the object from the lens
is 18 cm. Find the nature, position and size of the image formed.
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15.

16.

R O 1 BId @ ? R U hl G hl e HIfSu | 9 At § 9g O
Y@ ol i G TR |

What are solar cells ? Explain the structure of solar panel. List two
principal advantages associated with solar cells.

geell % SPHUSH o HUl T H AISH g "UIled 3w il fifey | a8
fr8 TR S 7 2 STgEvEA | A ol U § e o foiu Soerht dvaifya
WA &1 AW faRau | 59 WEl o 39§ fhg i HY <hl ST gehdt B 2
Write the essential function performed by ozone at the higher levels of
the Earth’s atmosphere ? How is it produced ? Name the synthetic
chemicals mainly responsible for the drop of amount of ozone in the
atmosphere. How can the use of these chemicals be reduced ?
R 1 £
SECTION D

(a) HSHAE o 3TMEd HEH I FHIGT o AT Teheal dF S&UT 3T FH SHTST |
(b)  MYHeh 3TTad ARl |,

i) et 3mad @ 9@ @ g I W,

(i) TorEl T9g (@) °# W A = IH |,

awdll o ©Tfcdeh A&o § fohd Tehr for=ror grar 8 2

T I & foru swror G |

Jroqa

IR qdi A, B, C 3R D % THISAT § Seiaeiqi o1 i ieh 4 foato 8 YR 3
o6 37 axall % STRIAH IS § Solarel Sl TEAT SHUST: 1,3, 5 3R 738 | Yl
MEd ARt § § awal hl Tg (YU) T faf@u | B 3R D TR @
Sl fa=Im8 qem B 3R D % AW & o AMfieh 1 11fvesh g fafaw |

(a) List any three observations which posed a challenge to
Mendeleev’s Periodic Law.

(b)  How does the metallic character of elements vary on moving from
(1) left to right in a period,
(ii))  from top to bottom in a group
of the Modern Periodic Table ?
Give reason for your answer.

OR

The electrons in the atoms of four elements A, B, C and D are distributed
in three shells having 1, 3, 5 and 7 electrons respectively in their
outermost shells. Write the group numbers in which these elements are
placed in the Modern Periodic Table. Write the electronic configuration of
the atoms of B and D and the molecular formula of the compound formed
when B and D combine.
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(a) STREMYT T0h 1 ITAN H hl TATE F1 & 9l 8 ? FAR oA |
SN k1 SHHY & HRUT 14 1A T kT I8 3T IHRT Tk A0 forfigu |
(b) BHR IR H dfEeRT e fohH TohR THT od & 2 SRedT shifoig |

A
Saad fhd @gd 3 ? 38 uftaew wi feffa w0 & fau feedt wam 6
CIRCTRE|

T ST |
(a)  Why is the use of iodised salt advisable ? Name the disease caused
due to deficiency of iodine in our diet and state its one symptom.
(b)  How do nerve impulses travel in the body ? Explain.
OR
What is hydrotropism ? Design an experiment to demonstrate this
phenomenon.

(a) TG GEEATE A A § 2 T IgE G | ‘ o

(b)  “Torelt Tasma Ry 1 form @ s B 3R 34Uk fofu gl SHehi § &
foreft =1 Y Iater) 481 9 S Hehar |7 el § forr fgior = @i
Tt YATg 3TR@ h! TERIaT ¥ 38 %A 6l gfse i |

(a)  What are homologous structures ? Give an example.

(b)  “The sex of a newborn child is a matter of chance and none of the
parents may be considered responsible for it.” Justify this
statement with the help of a flow chart showing sex-determination
in human beings.

wwg@a%%ﬁﬁmﬁm@%awmmﬁgﬁa% ?
élafé'lEE\[ HIUTT ERIE IR SHERL é'aglgé
aﬂwﬁaﬁmaﬂﬁﬁsﬁ%ﬁ;%uﬁwwlw |

When do we consider a person to be myopic or hypermetropic ? List two
causes of hypermetropia. Explain using ray diagrams how the defect
associated with hypermetropic eye can be corrected.

(a) Tordlt ST <A1 Hgmar 4 319 I8 fses forg g Feprein T ford) Seh
g Jofisey A FAfaa 9 gfeiussl & 9i@y & Y 91 8 gHE 9
YaTted Bl 8 ?

b)) = fer U afgy w fEmr Hifve st afgy & s @9 i feafa |
gy ¥ gaifad 9 3R 15 Q & Sfauy & B0 w faver=m e Hifg |
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(a)

(b)

(a)

(b)

(a)

(b)
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T gfcige® Ry, Ry 3R Rg UI¥ashH § GAINIA & a1 Jg TS fohelt
sell, onfiet, dicediet 3R FHoil ¥ TIAINIG B | IUgFd U9 3@
Hifau i gfctierent o T9eH o e Tty & fore sereh uea hifs |

= fou U e @1 qed Ifatiy gitehfaa i

20 Q
10 Q VWV
A —AA—] B
AW
20 Q

How will you infer with the help of an experiment that the same
current flows through every part of a circuit containing three
resistors in series connected to a battery ?

Consider the given circuit and find the current flowing in the
circuit and potential difference across the 15 Q resistor when the
circuit is closed.

5Q 10 Q 15 Q

VWV VY VWA
+| —

| (.)

H“l \*)
30V

OR

Three resistors Ry, Rg and Rg are connected in parallel and the
combination is connected to a battery, ammeter, voltmeter and
key. Draw suitable circuit diagram and obtain an expression for
the equivalent resistance of the combination of the resistors.

Calculate the equivalent resistance of the following network :

20 Q
10 Q VWY

A — MW B
VWV
20 Q

(o]
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21. TrEl &fqS FEae ¥ TFaaq ToRd FhEl Y 9RETE ITeieh % RO 3o
Jraehid & @rsti @ Ued Eifuw | gfavas o fem faRew oft 3w
STIIERT &= [@red hit foun oifhd e # hifve | 3w Y w1ee § g IH W
foreht fomg W, &t grehr & freifea foren S 8, greshr & i ferar o
frE TR 9ftadH BaT B ? 379 TR i gfse o forw sro @R | 5

Draw the pattern of magnetic field lines produced around a current
carrying straight conductor passing perpendicularly through a horizontal
cardboard. State and apply right-hand thumb rule to mark the direction
of the field lines. How will the strength of the magnetic field change when
the point where magnetic field is to be determined is moved away from
the straight conductor ? Give reason to justify your answer.

T
SECTION E

22. Torslt foreges 3 forarmery <1 TTRIIRN ® B @ UHIEH o, Sid, g @1 ™,
Tifsam gEgioA HEHe 3R Afsam gEgiearss & o faerm e 3tk pH
g 3 UeIel % pH U T1d i o fote gt | forell &1 3 37 ugrerf & pH 9
HUI: 3, 12, 4, 8 3N 14 fo@ | 390 & HHA-E1 7 T TE ® 2 BRI §C
3Eh! Hel 7 T | 2

AT

IR fiehl H AT Tothe T TS SHT foeiaq w1 8 31 90 shAwT: Ugiatam,
HIR, AR IR Fop i weliwifly = 6 T ufeaf @ . & | o
30 Tie < uvaTq h1g BT 3194 w1 Yervr T 2 2

A teacher provided acetic acid, water, lemon juice, aqueous solution of
sodium hydrogen carbonate and sodium hydroxide to students in the

school laboratory to determine the pH values of these substances using
pH papers. One of the students reported the pH values of the given
substances as 3, 12, 4, 8 and 14 respectively. Which one of these values is
not correct ? Write its correct value stating the reason.

OR

What would a student report nearly after 30 minutes of placing duly
cleaned strips of aluminium, copper, iron and zinc in freshly prepared
iron sulphate solution taken in four beakers ?

817211 9 P.T.0.
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25.

26.

forel el § 2 mL UHICH o ool 3UH Tk Yookl Hitedd gIEgH
HHe A W = Yo fhu Sid @ 2 39 YRl H B dret STtfshar
e gt fafE |

What is observed when a pinch of sodium hydrogen carbonate is added to
2 mL of acetic acid taken in a test tube ? Write chemical equation for the
reaction involved in this case.

feefioost it o1 STl S o TR =N 6 HHIR T R |

AT
T geueEh il 3= v § foret quIR Tmse o1 wleor s o uveEnq feReft
B 3 g T faepren o6 < 8 womge § e wohehifves Sffe @ fgmvea &
fafim =or qufe e & | 39 @ Jaon A fafge R smam WA frsed
ferehTett ST Weha B |
List in proper sequence four steps of obtaining germinating dicot seeds.

OR

After examining a prepared slide under the high power of a compound
microscope, a student concludes that the given slide shows the various
stages of binary fission in a unicellular organism. Write two observations
on the basis of which such a conclusion may be drawn.

T foamem ) v | Wi 1 90 R o fou feRdt o= & Tt @
STEARfl AU IR Hd gud fordl B g Stdl S It 9| araent
T ST |

List four precautions which a student should observe while preparing a
temporary mount of a leaf peel to show stomata in his school laboratory.

id 6T JIATHR Ifgeht (Te) o fohet Teh Heleh A U 45° o I T YA
A aTefl T fohtor 1 9 Rfad FifST | 39 3@ W (i) TUEdd i,
(ii) TATa I 3T (jii) uTfedes fazemam eifera hifm |
YT

HIE B NG H v S7gER foret e & 59 @ T arelt yehrer fomtor w1
T ITRAGT Al 7, T 39 NG I AT BIS ¢al & AR 3 AR off T8
LT | 38 NG I GER Wieeht T HIWT d91 30 W i, Le, £r IR D
3ifera hIfT |

Draw the path of a ray of light when it enters one of the faces of a glass
slab at an angle of nearly 45°. Label on it (i) angle of refraction, (ii) angle
of emergence and (iii) lateral displacement.

OR

317211 10
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A student traces the path of a ray of light through a glass prism as shown

in the diagram, but leaves it incomplete and unlabelled. Redraw and
complete the diagram. Also label on it /i, Ze, Zr and £D.

27. Tl ufmy o g2 vfligs & yarfga g 3K 38 il w favearw om@ 1
a9 ficfterdict 3R AiceHiet gRT guIT 7T qTd=iehi @ 3TIHN & :
(a) o Uil & IcUqHTS F AT 7§ ?
(b)  Sfaliees w1 Tfaue fohaar 8 2
200 2

100 300 X//ky*H+H+H+Hﬁg~£i\\

mA AV

The current flowing through a resistor connected in a circuit and the
potential difference developed across its ends are as shown in the
diagram by milliammeter and voltmeter readings respectively :

(a) What are the least counts of these meters ?

(b) What is the resistance of the resistor ?
200 2

100 300 X//£¥kH+H+H+HﬁHHii\\

mA Vv
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